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Question Number : 1 Question Id : 64041116641 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If f:R — A.defined by f(x)=cosx ++/3sinx —1. is an onto function then A =
f(x) =cosx+3sinx—1 ™ Dol Hbavin 1R = ASors i
wond, A=

Options :
i )
1. % [-1.2)

. [—V/3.4/3]

Question Number : 2 Question Id : 64041116642 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



"—1. x<0

Let g(x)=1+x—-[x] and f(x)= X =0, [x] denotes the greatest integer

{ L %sd

less than or equal to x. Then for all x. f(g(x)) =
-1 x<0

g(x)=1+x—[x] Hbcn f(x) :{ 0. x=0,x& Do K65 Irgdonsd [x]
L x>0

XrOiol. eyl of) X o fle(x)) =

Options :

1.%"’1

Question Number : 3 Question Id : 64041116643 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The remainder obtained when (2m + 1)2 (m.n € N) is divided by 8 i3
(2m + 1)%® (m.neN) % 8 T grhodsHp $3y Bk
Options :

R



Question Number : 4 Question Id : 64041116644 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A value of 9 lying between 0 and g and satisfying

1+8in°®  cos’®  4sin4e
sin“8  1+cos’®  4sindd |=0 is
sin‘®  cos’6  1+4sin46
1+sin‘0  cos’e
0 &0 g@ SigS dobw, | sin’0 1+cos’6
sin“6  cos®0

cﬂaaé&a;é ek

Options:
5t
24

i
24

|3

Question Number : 5 Question Id : 64041116645 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

45in 46
45in 40
1+4sin46

=0 % 3563 ¢



If the system of equations 2x+py+6z=8. x+2y+qz=5 and x+v+3z=4
has infinitely many solutions, then p =

3 g Smre éw"‘é 2X+py+62=8, x4+2y+qz=35 HddSw x+y+3z=4

o308 FEdod EOA &08, @GP p=

Options :

1.%_1

5
2.~

Question Number : 6 Question Id : 64041116646 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

e m b a m a
If x*y° = Yoyt edt Ape By = B
n d e n C

. then the values

d

of x and y are respectively (e 1s the base of natural logarithm)

m b b

d

b : o
2y =t Ay e, A s ©ond X 560 ¥

nn

Gho¥) Denden e (e B Hire RoNBardo dnt) grah)

Options :
Ay Ay
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Question Number : 7 Question Id : 64041116647 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If z and o are two non-zero complex numbers such that | zo | =1 and

n s
Argz-Arg © i then Zo=

m ) :
‘zm‘ =1 $Bcin Argz-Arg® :E edhxtenre Z £6ah 6 o Both $odEhonss,

4.

Question Number : 8 Question Id : 64041116648 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Let z satisfy |z|:1, Z=1-Z andIm(z)> 0

z|=1, z=1-7 &bcs» Im(z) > 0 o z D580 sxbomro.

Statement-I : zi1s areal number
13383 S5-I D Ze ard) Hogyg
Statement-II : Principal argument of zis ™.
3
SESSo-Il 1z Gt 1B eschEioo T
3

Then
@30peso

Options :

Statement-I 1s true, Statement-II is true and Statement-II 15 a correct
explanation of statement-I

WddHo-l Hefso, |B@SHo-IT Nefgo Mbaln |PESKo-1 adng) JOah b
a3 $5sdo-11

Statement-I 1s true, Statement-II is true, but Statement-II 1s not a correct
explanation of statement-I

Wt dio-l dego, WaddHo-Il S&go, o) (HadHo-l Bngh SBgE Dibdm
siedSsdo-II s

Statement-I 1s false, Statement-II is true
13565 5s50-T esiedgo, 3adSio-1T Hefyo

Statement-I 1s true, Statement-II 1s false

25e3 So-1 Gefro, (2385 o-11 endiedso
4. %

Question Number : 9 Question Id : 64041116649 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



If O, and (®, are fwo Non-zero complex numbers and a. b are non zero real

(‘-}1
numbers such that | ae, + be, |= |ac, —ba, |. then o,
)y

|acy +bo, | = |aoy; —bo, | edhbén o;. o, e Both ErSHs 5088 Hoggen B

(!)1 )
a.ben féﬁﬁééiﬁ S Hogren eond, — &b

0]

s

ek

Options :
a positive real number

28§80 dNNosR
—_ o

a negative real number
2B 2068 STRRBIMOR)S

2. # - N
Zero

FIOR)
o

purely imaginary number

GOl TR=1 N PSTot i
4.4 @ ¥ 5

Question Number : 10 Question Id : 64041116650 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If a1s the common root of the quadratic equations x> -5x+4a=0.
%2 —2ax -8 =0. where ae R, then the value of ot —a’ +68 is
%2 _Sx+4a=0.x>-2ax-8=0.2€R &3 e HeDEBEro Gng) éindsreo o
wond, o —a’ +68 %) Dendd
Options :

260
1.¢



4 % 240

Question Number : 11 Question Id : 64041116651 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If o,p are the roots of x’-5yx-65=0 and 7,8 are the roots of
x* —Sox -6 =0, then ct+P+y+8=
%} Syx—68=0 G0 doeren o, p B0 x” - Soex - 65 =0 Gng) Hwreren
T, & wons, a+p+y+o=

Options :
0

125

144

180

Question Number : 12 Question Id : 64041116652 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

3 2 5
. “(log,x)" +log, x—
The equation x* 4 =42 has

S 5
—(log, x)" +log, x——
S&oE8easm x4 =2



Options :
no real roots
- PR soresneid EOA 6okt

only one real solution

e 738 argiRih EOA dotnod

exactly two real solutions

ghBorr Both PR F5Hesn DA Sotnobd

exactly three real solutions

EihSore Hrth TN e DA &otnod

4.

Question Number : 13 Question Id : 64041116653 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If .. B. v are the roots of the equation x° + px? +qx +1r=0.
then (a+B)P+y)(y+a)=
o, .Y e X +p?.:~:2 +qx 41 =0 3&88e0 GInE) Hore SN, ©IPH
(a+B)B+(y+a)=
Options :

1% p—qr



Question Number : 14 Question Id : 64041116654 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

An eight digit number divisible by 9 is to be formed using digits from 0 to 9
without repeating the digits. The number of ways in which this can be done s
0 08 9 HdH Ko woser), wosen fyﬁtﬂé;;e‘ﬁo sore hdr 93 rRoder a8
VALNIARCI RNV srerobomed. B DaHrin Desdne 208y
Options :
18x 7!

1. %

24 % 7!

3.¢¥

Question Number : 15 Question Id : 64041116655 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
15 R 5 {: ‘
iy g [ — e
g 15
=1 | C

wadl

1—_1 /'I

Options :



Question Number : 16 Question Id : 64041116656 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A string of letters 15 to be formed by using 4 letters from all the letters of the word
"MATHEMATICS". The number of ways this can be done such that two letters
are of same kind and the other two are of different kind 1s

'"MATHEMATICS" o3 &0 cﬁwﬁ:_ @ém@ﬁcloc’i ob 4 @ém@?ﬁ: ko oo 25
sioro ¥OAR GriroBomd. Dot eioen o8 SR HADY oo DIHZKD

oGty 6AR Dokl Asne Sogy

Options :
756

1.¢

232
2. %

840

Question Number : 17 Question Id : 64041116657 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

N P 10"
Il_ {:1 Il+ CE -I]_”'+ 11:
81 81 81 81
Options :
0
1. %
il
2. ® D
1



4. % 81

Question Number : 18 Question Id : 64041116658 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If x 1s positive real number and the first negative term in the expansion of

(1+x)"" ist thenk=

= 27/5 v = 5
X $oeedi s Nogr shBdin (]-|—§{_}‘?" :ﬁ))é&_ a'l-p_;;écaéf VNl (“cha'ﬂe“jéé S0 Ek

Options :

h

Question Number : 19 Question Id : 64041116659 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

"

. X’ A B C
7 = ) ) _t - —_ 1:
&+ -1) x2-1 x2+41 x2+2° RAFB-C
. i _A B € ;
(2D 3P-1 41 Pz ooos il
Options :
1. % 0
i
3



| 0

2

Question Number : 20 Question Id : 64041116660 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

: 1
If COSX+5INX = = and 0 < X < . then tanx =

-

COSX +sinx =— 680 0 <X <7 ®owd, edpth fanx =

b | —

Options:

14417

1. % 4

2. % 4
47
3.% 3
_ @+
4. 3

Question Number : 21 Question Id : 64041116661 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



If sinf + 2cosb = 1 and 8 belongs to 4™ quadrant (not lying on the coordinate
axes) then 7cosf + 6sinf =

sind + 2cos = 1 586 6 TP el F08:58 (Wrdspod Bhom 408)
TcosB + 656 =

Options:
,_1_
17

2. v 2

rJ.l_I'-i_

Question Number : 22 Question Id : 64041116662 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If A and B are acute angles satisfying 3cos” A + 2cos’ B =4 and

35.111 A _ A 5 .then A+2B=
smB  cosA

3sinA 2cosB

3 2
A %8050 Ben 3cos”A+2cos” B =4 %8¢ ) é&&_‘ﬁ&é e

sinB  cosA
Sereons, oiptd A+2B=
Options:

T

2
1.¢



8

3. %

-

Question Number : 23 Question Id : 64041116663 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Statement-I ~ : In the interval [0,2x], the number of common solutions of

the equations 2sin“6—cos26=0 and 2cos’ 6 —3sinf= 0 is

two.
o1 1 [0,21] wodtoss® 2sin’6-cos 26 =0 bk
2c0s* - 3sin6 =0 5duederer (o) eidyd e Kogg Dot
Statement-Il  : The number of solutions of 2cos’6—3sin6=0 in [0,7] is
two.
Enitealll . [0,7] &% 2c08° 6—3sin6=0 Gty SRese Homg Sod
Options :

Statement-I and Statement-IT are both true
a5SE0-1 dhbafn (5SS o-IT e Toth Do

Statement-I 1s true, Statement-II is false
S5a3sdo-I SGefto, |siedio-11 eddio

Statement-I 1s false, Statement-IT is true

Sa&SB0-1 ededto, |56 SH0-11 Sedto

Statement-I and Statement-II are both false
ia5SE50-1 dhabatn (35S o-1I &0 Toth eddso



Question Number : 24 Question Id : 64041116664 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The equation €05 ' (1-X)—2cos™ X == has

2| A

cos "1—x)—2cos 'x=— 5iE5m0

o | =

Options :
no solution
5 BOA Sodth

only one solution

] =, ~ . '
2.8 2.8 etiadsh DA Sotnod

two solutions

Both aRded S0 sotnod

more than two solutions

4w 0O Zof) Q¥ FefdeH DA Sotnod

Question Number : 25 Question Id : 64041116665 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If Sinh ™ (2) + Sinh™!(3) = o then sinha =

Sinh™'(2) +Sinh ™' (3) = 0 wowd, wxypd sinha =

Options :

, x 2405+3410

L« W10+445



L x WI0+445

2104345

Question Number : 26 Question Id : 64041116666 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In AABC, if A, B,C are in arithmetic progression then

; ; [A—C]
Va“ —ac+c” - cos 5 =

AABC &b AB,C &0 oot3as? soff Va’ —ac+c’ -CDS(A;CJ:

Options :

1. % a+c

Question Number : 27 Question Id : 64041116667 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



If in AABC.B=45° a=2(y3 +1) and area of AABCis 6+ 23 sq.units, then
the side b=
AABC & B=45°, a=2(y/3 +1) 60 AABC Gi¥)3@exo 6+ 243 Sidimdey

©ONS, ©DpeH gheo b=

Options :

L 843

1.

L« V234D

50 W2

4.v 4

Question Number : 28 Question Id : 64041116668 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Ina AABC. if sin? B =sin A and 2 cos®> A= 3 cos® B, then the triangle is
AABC & sin”B = sin A 5805 2 cos” A =3 cos” B eond, & [@2heo
Options :
acute angled

% & ;
1 % @308 Bgheso

obtuse angled

- Hth80es (Bgheo

right angled
3 % s008%s (Bgheo
equilateral

SsneTmern (Sgheso



Question Number : 29 Question Id : 64041116669 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
P is the circumcentre of AABC . If the position vectors of A, B, C and P are

4

a+ . . .
respectively. then the position vector of the orthocentre of this

4= | =

a.b.T.

=2

triangle is
Po36 AABC ¥ 6 éﬁo@io A, B, C&bdm Po ang u RVAL VRNV
a+b+c

b6y

=2
r-.-

o8, & [Bhao adng) eonBoio ang) kS HHE

Options :

|
_|_
(=gl
_|_

2.9

Question Number : 30 Question Id : 64041116670 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If the position vectors of A, B, C. D are {+2j+2k. 2i—j. i+ j+3k and
47+ 5k respectively, then the quadrilateral ABCD is a
A, B. C bt D fothie & $6de stidre 1+2j+2k. 2i-]. 1+j+3k
B 4] +5k @ond dedyeo ABCD e 36 a8

Options :



square

nle{psTe!

rectangle
68 S0

rhombus

N0 DentineEo
3. ¥ B
parallelogram

TsTP0EY é-e‘_ﬁﬁijajjﬁo

Question Number : 31 Question Id : 64041116671 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The set of all real values of ¢ so that the angle between the vectors
a=cri—6j+3k and b=xi+2j+2crk is an obtuse angle for all real x is
X ao¥) o) 77 Devded J6Ten a = cri—6]+3k 605 b=xi+2j+2cxk

C

£ " 5 - i)
o 3 He 80 a8 HSE mddntinm ¢od ¢ Q%) e Desdie Hih8

Options :



[ —4
1 . 0}
L3

",

Question Number : 32 Question Id : 64041116672 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Let =21+ +3k. b=31+3]+k and T=1-27+3k be three vectors. If T
is a vector such that Txa=Txb and T.T=18, then the magnitude of the

orthogonal projection of 41 +37-k on T is

41+3j-k Ging) o DESKD Gng) HBETE0
Options :

1.¢ 4

Question Number : 33 Question Id : 64041116673 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If §. ¥. W are non coplanar vectors and p. q are real numbers, then the equality
[3u pv pW]-[pv W qu]-[2W qv qu]=0 holds for

0. V. W @8dch 36%n 58cm p. q 7708 Eﬁoagéazy ©OnS, OIPED

[30 pv pW]-[pv W qU]-[2W qV qu]=0 o3 55758

Options :
1.+



exactly one ordered pair of (p. q)
2B el (E&oaiwifo (P, q) B D8:5th&0b

exactly two ordered pairs of (p. q)
Co [Eshaionmen (P, q) o S|ah 985 0d

all ordered pairs of (p. q)

_ o)) (Bsocinmmen (p. q) o 585H&0d

no ordered pair of (p. q)
o (BSciniEn (P, q) B HBDES

Question Number : 34 Question Id : 64041116674 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
9 9

If ¥ (x;-5)=9 and X (x; —5)2 =435, then the standard deviation of the nine
1=1 1=1

observations Xj.Xj,....Xg 13

9 9 .

¥ (x;,—35)=9 Hbcn T (x;-5)" =45 oo, ©pth P 568em Xp.Xp.....
i=1 i=

@) [ ddeodo

Xg

Options :

-
1.4 7



Question Number : 35 Question Id : 64041116675 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Two students appeared simultaneously for an entrance exam. If the probability

1
that the first student gets qualified in the exam is T and the probability that the

second student gets qualified in the same exam 1s 5 then the probability that

atleast one of them gets qualified in that exam 1s
2.8 ¥ aﬁﬁgéa Zlnloy 3)3?56[%@:: e BB sTesBofrgth. TO5d Fnisd Dogh E.’Jéggﬁﬁ

1 2
ol arotoeig Hogreied 1 HoBckn Boks Sopie St oI Hogrid g @O,
&0 e D e .sﬁﬁggﬁﬁ et EPOcSTrlI8 Sogriie

Options :

11
20

Question Number : 36 Question Id : 64041116676 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



For three events A, B and C of a sample space. P(exactly one of A or B occurs) =

P(exactly one of B or C occurs) = P(exactly one of C or A occurs) 21. If

1
probability of all the three events occuring simultaneously is e then the

probability that atleast one of the events occur is
a8 o edbso g et shéaden A, B &bain C8, P(A&w B ot éfbﬁom
2,58 Hogdostio) = P(B 8w C o E’if;:;etéom 288 HogfDosto) = P(C 8o Aodt

L
4

éﬂ&éom 2,88 Jogdodto)=—. Surth tder Jfseod’ Joddo seimend Hogrss

1 : .
E ©ONS, wsipth 8050 a8 bl abnothd He dogrid

Options :
3
16

1. %

A

2. %

3.¢

Question Number : 37 Question Id : 64041116677 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



A bag P contains 4 red and 5 black balls. another bag Q contains 3 red and 6
black balls. If one ball 1s drawn at random from bag P and two balls are drawn
from bag Q. then the probability that out of the three balls drawn two are black
and one 15 red. 1s

2. %09 P& 4 80 HBckm 5 $ed aothen GBI, %6 Ho9 Q& R snBan

chv‘

6 5e0 aoen samom. Jod) Phod 2.8 208, Sof) Qod ot acdeid r:jﬁjﬂiﬂ‘:méorw

. 3 853 Srth nodhes® Both 009 b w88 BB e Hoge 8

Options:

25

h

1.4

h

G‘\.|I\J
.

-2
1

L]
"_J]

hn
Y

Question Number : 38 Question Id : 64041116678 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



On every evening. a student either watches TV or reads a book. The probability

4
of watching TV 1s ot If he watches TV. the probability that he will fall asleep is

-

3 o1 .
1 and 1t 15 1 when he reads a book. If the student is found to be asleep on an

evening, the probability that he watched the TV is
(58 rabolgo F¢ sl TV $raed Boe a8 Hiigo Shdardd. efth TV &

RNograys i w$td TV Srddsnh 6’8 exoftah RograYs

3
: — 0Bdm w&th ab
5 = 4

B0 BODPD QB eBerD 5 iagai 1 28 Frcholgo ¢ & 050 § falioi oo

£

K500 3, @8 TV drd 608w08 o Sogris

Options :

11
13

2. ¢

| -3

o
8]

[E—
Lu|'h"

4, %

Question Number : 39 Question Id : 64041116679 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Let X be the random variable taking values 1. 2, .... n for a fixed positive integer

1 : S
n. If P(X=k)=— for 1<k <n. then the variance of X is
n

el ?é:]fﬁ ! Qﬁ%@écn néa¥ @ﬂ:f-iﬁe}i'lt:é Sooed X Denden 1. 2. ... n o &50tnod
w80l 1<k<n8& PX=k)=— ‘E'Owj ©:pth X o) )

Options:

i
n -1

2
1@ 12

(n+1)(n+2)
6

Question Number : 40 Question Id : 64041116680 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A radar system can detect an enemy plane in one out of ten consecutive scans.
The probability that it can detect an enemy plane atleast twice in four consecutive
scans 1s

w8 OG0 S af S DSy 96 SERED Deasoed® 280 EQDLKD.
ool $6% Dpsned® E0o Bohrd ©b o dH Dire ) Eake Hograyd

Options:
0.0422
®

, » 0.0523



Ly 00535

4 % 0.0623

Question Number : 41 Question Id : 64041116681 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The locus of the third vertex of a right-angled triangle. the ends of whose
hypotenuse are (1. 2) and (4. 5). 15

&ﬁc“ol, Gin¥) Dai8en (1,2) 6ot (4, 5) e Ko ooat’s (Behadn Hmd *Srj“m @)

- AV
othHeHn

Options :
x3+y1+53+7y+14:0
1. %
3x+3v-1=0
2. %

- HBxadwrrl—0
3. %

2 ¢

X“+y —-5x-T7y+14=0
4, &

Question Number : 42 Question Id : 64041116682 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



The coordinate axes are rotated about the origin in the counter clockwise direction
through an angle 60°. If a and b are the intercepts made on the new axes by a

straight line whose equation referred to the original axes 1s x+vy=1. then

o1
aZ bi

28 ezl Srodoldd c‘.S\:?L 60° B8’ w5 AL §8° (gm0 Bobom,
5D NErE oge ﬁéi@“ X6¢0e H88Eo X+y=1 e 68 5,8 efine

I .
= £ SRR \opoatss
© By D98 wodbpotsne a Hbdin b wond, o 5T

al b’

Options :

1.¢ 2
2.% 3
3 % 4

4. % 6

Question Number : 43 Question Id : 64041116683 Question Type : MCQ Option Shuffling : Yes
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The image of a point (2. —1) with respect to the line x—y+1=0 1s

X-y+1=0 5840p Bar 5 a8 Dot (2. 1) G (H3Domsm

Options :

. 2.53)



Question Number : 44 Question Id : 64041116684 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If a straight line 1s at a distance of 10 units from the origin and the perpendicular

drawn from the origin to 1t makes an angle ! with the negative X-axis in the

negative direction then the equation of that line 1s

ol X680y Sre o) Hod 10 chirléy Erbod® sotoe HBEH Hre Dot

T
-+ 5 = | g .
ol D8 ADS womo ane X-ufos” anemhdE” 1 Bl Dbt ol © VB¢

o% @33%& S Endemo

Options :

i Xx+y+1042=0

x—}'—lﬁﬁz[}

2. %

L x X+Y-1042=0

4.¢x—}'+10\/::0
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If one of the lines given by the pair of lines 3x” - 2}-3 +axy =0 1s making an

angle 60° with x-axis thena =

7 7
3% -2y” +axy =0 $rdod O&Pmﬁﬁt’f‘ & By X-ofsn & 60° o I7, a=

Options :

=
2

1.4

:Yes
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Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A straight line passing through the origin O meets the parallel lines 4x +2y =9

and 2x+y+6=0 at the points P and Q respectively. Then the point O divides
the line segment PQ 1 the ratio

forefond) Obor 8ah &8 H5¢ By, 4x+2y=9 HBa 2X +Y+6 =0 S5ross

3 1 e y
Bpeh Stk PHdon Q S Sensfol. @ph Oge potio PQ i Hothsh O HfBod

r:l'\.\/“ f

"”“3',5

Options :
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1. %

X §;52:1

3 - 4

4% 4:3
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A circle is drawn with its centre at the focus of the parabola y* = 2px such that it

touches the directrix of the parabola. Then a point of intersection of the circle
and the parabola 1s

}rz = 2px Sowincho G o) écﬁa ﬁo@ﬁi&é@ﬁ 00, & Sowincho ang) o5t
) E)%oﬁemﬁgmn e o Aohodoh. edph o o Hobaln v Sowiecho G
2.8 pois Doty

Options :

(Zp, 2p)

(2p, —2p)

(V70

Question Number : 48 Question Id : 64041116688 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A circle touches both the coordinate axes and the straight line L=4x+3y-6=0
i the first quadrant. If this circle lies below the line L = 0, then the equation of
that circle is
a8 g0 AUrIsHoid Bo8oB $6am L=4x+3y-6=0 Ogr 3088 srtsos’
98508, & Hgo L= 0B BINSS 608, © ) 385e0
Options:
7 7
4" +4y —-4x-4y+1=0

1.4

4x* +4y° —4x—24y+1=0
2. %



3 % x3+y2—6x—6y+9zﬂ

B iR
4w X +y —6x—-y—-9=0
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If the smallest circle through the points of intersection of x*+y*=a* and
xcosa+ysina=p, 0<p<ais x*+y* —a’+1 (xcosa+ysina—p)=0 then
A=
x’ +V —a’ Bk xcosa+ysina=p, 0<p<a o pod DothHe How SFab

s £ 2 2 T it Oy et .= famado m
oS0 Hfo x“+y -a +A (Xcosa+ysima-p)=0 eond, ep )=

Options:

’I.ﬁl

a.v 2P
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If the lines 3x—4y+4=0 and 6x—8y—7=0 are the tangents to the same circle,

then the area of that circle (in 5q.11111t5] is
3X-4y+4=0 $Bcin 6Xx-8y—7=0 Bypen a8 ) EI0I J)80pen ©ONE, P

© g0 ¥ 350 (SicHrdgE)

Options :
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Circles are drawn through the point (2. 0) to cut mtercepts of length 5 units on
the X-axis. If their centre lie in the first quadrant, then their equation is

X-o¥0p 5 ahrdy fridite eosbpomoi Saotprd HBc (2, 0) DohHibom
SEabestnrei Heen Hohamran. SoBoen FnkB s’ soB, edp =8
Ho8seasin
Options:

3 e Sy
% 3x°+3y°—27x-2ky+42=0. keR

x> +y>—2kx—-9y+14=0, keR"

2. %
2 72 qk, Y. — T+
3¢ X 1Y —9x-2ky+14=0. keR
iyl S — p—
4 % X +y —9x-2ky-42=0.keR
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If the locus of a point that divides a chord of slope 2 of the parabola yz = 4x

internally in the ratio 1 : 2 is a parabola, then its vertex 1s
]
Feoid 2 e BDAS yT =4x doededho ang) af axd 1:2 ?3-3’@%&‘,‘* ©0SB0rT
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Assertion (A) : The length of the latus rectum of an ellipse 1s 4. The focus
and its corresponding directrix are respectively (1, -2) and

1

3x+4y-15=0. Then its eccentricity is 7

DBgEo (A) o el é’g o Ghog) OB g 4, o8 (1, -2) &bk od

1
wiomors Sobeide 3x+4y-15=0. ead P @) ﬁé&o@feﬁ 7

Reason (R)  : Length of the perpendicular drawn from focus of an ellipse to
a(l-e?)

e
sodemo (R) el &g@éo TEiod o) Gng) edaog 0%l Tago ABY 0080

its corresponding directrix 18

a(l-e’)
-

G, P

Then which one of the following 1s correct ?
@ ph S (Bob e’ DB SO T
Options :
(A) and (R) are true, and (R) is the correct explanation to (A)
, (A) Hefgidn, (R) Sefgibn dobain (A) £ (R) 86 ecod xidm

(A) and (R) are true, and (R) is not the correct explanation to (A)
(A) Xedsain, (R) Xefsiin dobain (A) £ (R) X6 eond &8 seeh

(A) 1s true, (R) is false
(A) Keszin, (R) evdiedgsin

(A) 1s false, (R) 1s true
(A) edegim, (R) Sefgin
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2 2

52
If the eccentricity of the hyperbola —— i—;. =1 passing through the point (4. 6)
2 42

15 2. then the equation of the tangent to this hyperbola at (4, 6) 1s

. ) - A
(4, 6) Dohd) Home PG edbodedio —1—i—z=1 ) 5@&0@65 2 wond, &

a
©8 JSoedediEds (4, 6) 88 Ko F‘iﬁ:fﬁﬁas @og) %&ngtemo
Options :

1 % 2X—=3y+10=0
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A hyperbola passes through the point P(\E .4/3) and has foci at (£2,0). Then
the point that lies on the tangent drawn to this hyperbola at P is

o8 ©8 Bododho P(y2,4/3) thow b H6um wehed (£2.0) HY E0A

60B. ©xpth PBY & 08 Jrdoa=dg AdS 38te 4ot Do)

e

Options :
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Question Number : 56 Question Id : 64041116696 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The circum radius of the triangle formed by the points (2. -1.1). (1.-3.-5) and
(3.-4.-4) s
(2,-1,1). (1, -3, -5) %8050 (3. 4, —4) DotwHod® T (Bghzo ) B8

Fﬁ%gcﬁ}z
Options :
35

1.% 2
25

2. ® 3

=

]

Question Number : 57 Question Id : 64041116697 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Let A(2, 3. 5),B(-1. 3. 2). C(%. 5, p) be the vertices of AABC . If the median
through the vertex A 1s equally inclined to the coordinate axes. then
A(2.3.5).B(-1.3.2), C(3.. 5. p) o0 AABC Gn¥) 8d3men winBlod. 8dzn

g & - s s Iy
A Hore gfa ngsrido NErE @gfae’f Qe Qind 8O God

]

Options :

SA—8u=0
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5 % Sh—=5u=0

10 —Tu=0
3. ¢

4 % 1A—10pn=0

Question Number : 58 Question Id : 64041116698 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Equation of the plane passing through the origin and perpendicular to the planes
X+2y-z=1and 3x-4y+z=51s
e £othd) Home BfEr b dokney X+2y-z=1 Hbdcw 3x-4y+z=5

0¥ eonore 6ok d0o ang) Jsdao

Options :
= X+2y—-5z2=0
1. % .
X2y +57=10
2. %
X4+2y4+5z2=0
3.¢
3IX+y—-5z=0
4, ®
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: E\E —(CcosX +sin x)j
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T I-sm2x
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Options :
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Let [x] denote the greatest integer less than or equal to x. Then

X8 S0 K63 drtons® [x] $rOotbEos, et LM

| }Y
o

Options:
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If the function f defined by

1—*::t:154x < <0

| o
f(x)=1 a. = [
\/; x =0

(V16+Vx -4

1s continuous at x = 0. thena=

1—::0?54}; 6
r X
f(x)=4 a. x=8
\/; X310
|\16++/x —4

Yy 2 T s B n L e . — T Ty L —= —
™ ABDoDNaés feod [Hhaho x =058 = o @ond a=
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e

Options :
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Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
.
18

The domain of the derivative of the function f(x)= 2y
+| x|

Bshaho I(X) :1 x| g edBoessin o) SBE5m
+iX

Options :
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dy

= -1
sec t
If x=42°%¢ ! and y=%2 ) |t
dx
[ ) — dy
i i sec Tt o e
x=V2°% ! Secm y=V2 ; |t|£] ©ond, @D o
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=1 then

Options :

| A

v
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Correct Marks : 1 Wrong Marks : 0

.u.l.-l
+ | A

If (a++2bcosx) ) (a— ~./_ba.0~,v ) =32 —p? where a~b>0. then at

dy
dx
a>b>0 @omdsph (a+y2bcosx) (a—+2bcosy) =a2 _p? ©ond, ©dpeH

T X
\4'4)°

Options :
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Consider the quadratic equation ax” +bx + ¢ =0, where 2a+3b+6c=0 and let

2
2a+3b+6¢c=0 ClenkaHpley ax +bx+e=0 c“ar!g !

3
b
g(x)= %-I—iﬂix w808,

ﬁbéfﬁmm H0HBoSos nbam

Statement-I :  The given quadratic equation ax® + bx + ¢ = 0 has atleast one
root 1n (0, 1).

3 H0-1 ] aﬁénﬁbéfﬁmo ax>+bx+c=0 % (0, 1) &° 8di30 a8 Srorc
061006,

Statement-II :  Rolle's theorem is applicable to g(x) on [0, 1].

EEsse-Il ¢ [0,1]3 g(x) & &% frpodo ehBgdoho.

Then

@

Options:

Statement-I 1s false, Statement-II is true

. 2335550-T edéggo, (585SH0-11 Héso

Statement-I 1s true. Statement-IT 1s false

(D& SH0-1 Do, (DHI[0-1I ebdéro

Statement-I 1s true. Statement-II 1s true but Statement-II 1s not a correct

explanation of Statement-I

(BSdo-I Sdg0, (HHSHo-II Hdg0 57

3 % [&500-11 5ot

($DSH0-1 Bk B

o

Dot

Statement-I 1s true. Statement-II 1s true and Statement-II 1s a correct

explanation of Statement-I

28S50-1 K0, (H5SHo-II Hgo Hbdkn (HRSK0-I @nE) J6ahE DHbes
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Question Number : 66 Question Id : 64041116706 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The difference between the absolute maximum and absolute minimum values of
the function f(x)=2x> -15x” +36x - 30 on [-1.4] is
[-14] 2 f(x)=2x>-15x> +36x-30 (Habato Gng) DB KB Hbah D
éﬁ)@ Dende) B0

Options :
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Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If f(x)=xe*¥™ x e R . then f(x) is

x(1-=x)

f(x)=xe X ER oond, odpdk f(x)
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decreasing on R

I

Question Number : 68 Question Id : 64041116708 Question Type : MCQ Option Shuffling : Yes
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The angle between the curves y° =X and XZZy at the point (1, 1) is
(1, 1) Doy e y° = X &oboto X° =y Sleloowr Sagss oo €30

Options :
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p Stanx _
If j ——dx :a};+b1t}g‘5m};—2c05};‘+c. then a+b=

tanx — 2
J Stanx

dX =ax+blogsinx —2cosx|+c ©ond, @Hpd a+b=
tanx —2 & i

Options :
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dx
'[ (1+\/;)\/x—};3

Options :
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-~ ¥ I }; Y
‘[ Sin~? ‘cl:v; =
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Options:
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(a+x)Tan ', [= ++fax +¢
a

5 fa
(a+x)Tanl = _JJax +c
X
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a
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X
P U - B _|_ - -
If‘[ r— dy =log f(x) + k. then f

:
J —— dx =log f(x) + k@ons, f

ytanx+1

Options :
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Question Number : 75 Question Id : 64041116715 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

2
The area (in sq. units) of the region given by R = J (X.y): Y <x< y4+ 41 18
2

- J

¢
| - N L }Ir_ - l ﬁ s L —3 = o 3 ¥ f
R= | (x.y): P S g | 3 sl [Erodo an) Javeso (Snahrdgd”)
Options :
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1
J' 2 (1-x)2dy =
0

Options :
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T

The general solution of the differential equation (X sl ;) dy=(y 51I1; -X)dX is

. ) : : .
(x smi)dy:(ysm'——x)dx wgol Jan8smo @NE) Fgdn 5
X X v

Options :
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The general solution of the differential equation cos(x +y) dy = dx 1s

cos(x +y) dy = dx e5gen $dEbno @nt) Frardes A



Options :

= tan‘f Sy \I‘+
b AD | c
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Correct Marks : 1 Wrong Marks : 0

If Ax® + Bxy =4 (A and B are arbitrary constants) 1s the general solution of the

¢

differential equation F(x)% +G( }:)% —2y=0.then F(1)+ G(l) =
dx” dx

2, ;
wdged 3HE8mo F{X)j—a+G(x)3—y—2}f:0 % AX’+Bxy=4 (A, B o
X" X

ASr)ing %WOS‘:‘@J) Jreries P5S wond, F()+G(1) =
Options:

1.v 1



Physics

Section Id : 640411346
Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40

Section Marks : 40
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 640411346
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 64041116721 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The physical quantity having the dimensions of the square root of the ratio of the

kinetic energy and surface tension is

e
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Options :
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If the displacement (s in metre) of a moving particle in terms of time (f in second)

is s =13 —6t* +18t+9, then the minimum velocity attained by the particle i

08" H) a8 Emo Gng) FlFodo (s-ahéxd &%), oo (t-28oth &) &

s—t3 _6t% 11840 ™ a6, © 860 NOIAY é"“z;; Stfo

Options :
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6 1115_1

12 1115_1
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If a force (%1 - 23 + ‘?k) N acting on a body displaces it through (21 +2] —'11;;)111.

then the work done by the force on the body 1s

o8 B HOBody (31+2j+5k) Naeo o (2i+2j+1k|m Fsigodo

E_-LLJ

= : oD, RoL e
206008, B8 U0 DD Dom B0

Options :
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Question Number : 84 Question Id : 64041116724 Question Type : MCQ Option Shuffling : Yes
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If two bodies A and B are projected with same velocity but with different angles
6, and 6, respectively with the horizontal such that both will have same range,
then the ratio of times of flight of the bodies A and B is

A Bt B eF Boibh dxipied o8 Sred &8as ool § 81 ANy 82
&éé&éﬁméﬁ ot el éﬁ’mféa'mﬂjeg agore (380 ﬂ'ﬁ)ﬂ, Ahboin B &53de [3cirs
sere 58

Options:

S111 Ei2

Sin 81

tan 6

tan 81

Question Number : 85 Question Id : 64041116725 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

The apparent weight of a gir]l of mass 30 kg when she 1s in a lift moving vertically

: i .
upwards with an acceleration of 2 ms™~ 1s
(Acceleration due to gravity = 10 m 572

=7

2ms ™ &8wos 88 oomore p8 Ko & E‘;g_w?” o 30 kg @ioe8 &) ol

CI ey
s

D8 Gng) B grdo
(ot o = 10 ms™)

Options :
60 N

1. %

30N
2. %

240N
3. %

360 N
4.
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If a stone of mass 0.5 kg tied to one end of a wire 1s whirled in a circular path of
radius 2 m with a speed 40 rev/min in a horizontal plane. then the tension in the
wire 15 nearly

2.8 B 2.8 %% 0.5 kg (B350°8 Ko 2.8 oromd) 88 @i 2m ‘*“Jﬂeﬁo Ko &8 st

Sr8od® 88 SEross Soo8® 40 rev/min HEE° S, © SKXE° S8 it

Options :
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A body is projected vertically upwards with a velocity of 20 ms™. If the potential
energy of the body at a height of 5 m from the ground 1s 100 J. then the kinetic
energy of the body at a height of 10 m ﬁom the ground 15

(Acceleration due to gravity=10m s )

a8 Haa) 20 m s FKos 83z eonore 28 OXB2GH0. e ok 5 m &) B
He08) r\.J'?jo #8 100 J wond, &8 Hob 10 m édﬁ e D) e €8
(Ko &bmo = 10ms™)

Options :

20017
1.4

30017

15017

Question Number : 88 Question Id : 64041116728 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Abody falls freely on to a hard horizontal surface. If the coefficient of restitution
between the surface and the body 1s 0.8. then the ratio of the maximum height to
which the body r1ses after second impact and the 1nitial height of the body is

¥ é\éﬁ;fﬁ E8e; Srosd Sesing a8 S Qi:i“-r*in NG, S8, B ey
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Two bodies of masses M and 4M mitially at rest. start moving towards each other
due to their mutual attraction. The velocity of their centre of mass when the first
body attains a velocity Vo 1

) @raejé“ 69) M $hoakn 4M [Bioeden Ko Both Sifen D83 etdm Hed
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The angular velocity of a body changes from 6 rad s to 21 rad s in a time of
. 5 . ) N

1.5 5. If the moment of inertia of the body 1s 100 g m”, then the rate of change of

angular momentum of the body 1s

1.5 s 5006 ¥ 509 Sdab 360 6 1ad s 508 21 rad s % £#656. © 55D

etien rengo 100 g m? wanid, ol Sdah [@Sééﬁﬁo &8 58 B
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If the displacement of a particle executing simple harmonic motion 1s given by
X =0.5co0s(125.6 1), then the time period of oscillation of the particle is nearly

(Here x 15 displacement 1n metre and t 1s time 1n second)

0¥ SroedE Sodo 3{&“5&}?53@ a8 mo Gng) égéigfo%o, Xx=0.5c0s(125.61) re
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The amplitude of a damped harmonic oscilator becomes 50% of its mitial value
in a time of 12 s. If the amplitude of the oscillator at a time of 36 s 1s x% of its
initial amplitude, then the value of x 15

28 @é{fm‘g FOEE &eo Ging) Boid 508 12 5 weod o &9 Dendid 50%
wihd. Eeto Ging) B0k 56508 368 see0 éf‘é oef) &0 Eodd 568088 x% eoni,
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The escape velocity of a body from a planet of mass M and radius R 1s
14 km 5™ The escape velocity of the body from another planet having same
mass and diameter 8R (in km s7) is

= £ # # # o g _—];
M (5&50e8, R amgakBo 8DAN 2.8 (Ksro foof a8 S5 Herddd So 14 kms™.
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£ 5 2 a | __1 ,.L
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The stress - stram graph of two wires A and B is shown in the figure. If Y, and
Y, are Young's moduli of materials of wires A and B respectively, then

A %86 B e 3otk &Ke -;;:@m@o-ﬁééié;& VA ™5 S8’ Srhabss. Y i snBcm
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If two soap bubbles each of radius 2 cm combine n vacuum under 1sothermal
conditions. then the radius of the new bubble formed 1s

.8%8 2 cm ajnéﬁ'ﬁféo Ko Both D) antéien %‘iﬁééoéﬁ S5l é@%e‘j}méﬁ £0%
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A rectangular slab consists of two cubes of copper and brass of equal sides having
thermal conductivities in the ratio 4 : 1. Ifthe free face of brass is at 0 °C and that
of copper 1s at 100 °C. then the temperature of their mterface 1s

DR gheren EOA, éu b 4 1 ?J?éi@&” Ke oef shBdin rw&e?” Sahedd
doth Hvarein E08) e &ééééi 58 O mcfo S ied, e @Dé&_ R $00
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The efficiency of a Carnot's heat engine 1s 3 If the temperature of the source 1s

decreased by 50 °C and the temperature of the smk is increased by 25 °C. the

efficiency of the engine becomes 16 The 1nitial temperature of the sink is

S, e

; I % ,
o8 5°8)) 3] dholgo Gink) BES = ésapdono ) sefried 50 °C shod), Berdaho

3
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The change in internal energy of given mass of a gas, when its volume changes
from V to 3V at constant pressure P is
v - Ratio of the specific heat capacities of the gas)
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A monatomic gas at a pressure of 100 kPa expands adiabatically such that its
final volume becomes 8 times its initial volume. If the work done during the
process 1s 180 J. then the initial volume of the gas 1s

F

100 kPa &0 58 o af dE58Erml >ond ) $Hb Hddbdrso, &0
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If a gaseous mixture consists of 3 moles of oxygen and 4 moles of argon at an
absolute temperature T. then the total nternal energy of the mixture 1s

(neglect vibrational modes and R - Universal gas constant)

H6 6efHS TSY 3 3rde efes H8c 4 Irdeo emai 8DA &) rdh Higdho
aing) Ando wosdE £8
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A sound wave of frequency 500 Hz travels between two points X and Y separated
bya distance of 600 m m a time of 2 s. The number of waves between the points
Xand Y are

500 Hz &T’:‘ﬁééfjjégo Ko 2.8 A sBofio 600 m Krtod? D) X bain Y dothsye
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A ray of light incidents at an angle of 60° on the first face of a prism. The angle
of the prism 15 30° and 1ts second face 1s silvered. If the light ray inside the prism
retraces its path after reflection from the second face. then the refractive index of
the material of the prism 1s

a8 Hoto dnid Swop af o8 8wo 60° E'm08" B850, 0% Emo 30°
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In an experiment, two polariods are arranged such that the intensity of the polarised
light emerged from the second polaroid 1s 37.5% of the intensity of the unpolarised
light mncident on the first polaroid. Then the angle between the axes of the two
polaroids 1s

28 [SarHod" Botkd sfeoront Kok airddid )08 508 88, Fnid Sfocontp
SE53% o8 =08 BB8% 37.5% eibidty Bodh oronfe:r ehdabTon.
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If two particles A and B of charges 1.6x107"°C and 3.2x10™ C respectively are

separated by a distance of 3 cm in air, then the magnitude of electrostatic force
on particle A due to particle B 1s

S5%m 1.6x10°°C  Hbakn 3.2x107°C sdmen Ko Bod ¥eren A Hbcn B

Ot 3 cm Erdos® Fdahad {%@, B30 Bt w0 A 2 ?@3&5@633,35 200
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If four charges +12 nC, — 20 nC. + 32 nC and —15 nC are arranged at the four

vertices of a square of side 42 m. then the net electric potential at the centre of
the square due to these four charges 1s

oot ssaen +12 1C, - 20 nC, + 32 nC $B8cw —15 nC e ghao \E m Ko 2.8
Sedho wrenth 'ﬁo?fj 3% sk, & ol gaae S0k S&dHo Solko HiE A8
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Four capacitors are connected as shown in the figure. If C . C,. C; and C, are in
the ratio of 1: 21 3 : 4, then the ratio of the charges on the capacitors C, and C,
18

Ty,

enth SarRbd 56080 X% Dore Eendalsd. Cl‘ 0 Ci AveleVy C4 e A

R -+ fapEY
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In the given circuit. the internal resistance of the cell is zero. If i1 and i‘2 are the
readings of the ammeter when the key (K) 1s opened and closed respectively.
then 1

33~

s} doahod” arghbd eos®)Bo i, § (K) & 868:5p Sk Sirhidpd

L.

)
©a)fob 6Botben SEb 1, $B6h 1, ©ond, =

4OQ§ §4OQ

|

Options:

2 R |

4.+

Question Number : 108 Question Id : 64041116748 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



In a meter bridge. the null point is located at 20 cm from left end of the wire when
resistances R and S are connected in the left and right gaps respectively. If the

resistance S is shunted with 60 Q resistance. the null point shifted by 5 cm, then
the values of R and S are respectively

e o £o- o £ 1 ey nn gt
2.8 ith ES® A bty BB grded® e R H6cn S 06w SRPED
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If a wire of length 'L’ carrying a current '1' 1s bent in the shape of a semi-circular
arc as shown in the figure. then the magnetic field at centre of the arc is
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div
A galvanometer having 30 divisions has a current sensitivity 0f 0.0623 U_A Jfit

15 converted into a voltmeter to read a maximum of 6 V. then the resistance of
that voltmeter 1s

div
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If the given figure shows the relation between magnetic field (B-along y-axis)
and magnetic intensity (H-along x-axis) of a ferromagnetic material. then the
point that represents coercivity of the material 1s
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A coil having 100 square loops each of side 10 cm 1s placed such that 1ts plane is
normal to a magnetic field, which i1s changing at a rate of 0.7 T s The emf
induced in the coil 1s

ghezo B¢y 10 cm Ko 100 Sehd(rsed Senid EDAAH) 2.8 eﬁzﬁﬁ % 0.7T s Bew
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: : « I—
An ac source of nternal resistance 107 Q 1s connected to a transformer. The
ratio of the number of turns in the primary to the number of turns in the secondary
to match the source to a load resistance of 10 Q) 1s

‘L"Deja“E} &o 10 Q e 28 ac &ésn”“_a 565808 B0, © =80 10Q g8
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If 11% of the power of a 200 W bulb 1s converted to visible radiation. then the
intensity of the light at a distance of 100 cm from the bulb 1s

200 W Dtixé een ﬂ?ffﬁggoeﬁg 11% :’%\% Q8Beorr 058K0 B06, & ey Hod
100 cm &e80 S5 5708 8158

Options :
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The de Broglie wavelength associated with an electron accelerated through a
e 200 . .

potential difference of T\* s nearly

200
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The ratio of the shortest wavelengths of Bracket and Balmer series of hydrogen

atom 18
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If the binding energy per nucleon of deuteron (jH™) is 1.15 MeV and an

a-particle has a binding energy of 7.1 MeV per nucleon, then the energy released
per nucleon 1n the given reaction 1s

(H*+H? > He* +Q
) SrBSPSE 608 motis 48 1.15 MeV 8dtn a-Seos™

2B KBS 408 20l €8 7.1 MeV, wond sskabs $6éd a8 $mBdrS
66 92 = 8 D VR
8

(H?+H? 5 He* +Q

Options :
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In a transistor, if the collector current 1s 98% of emuitter current. then the ratio of
the base and collector currents 1s

2.8 ([ErRy] 668 H5BE Dy [Harsro, Grrdlo Niige HamN8 98% eond, wrrdo

"Zuamju :Jé@m@ DJfJD ) |r3,~‘.Jc_-""a.»"'B gj%q

Options :
;% 1:98

Question Number : 119 Question Id : 64041116759 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In the given circuit, ifA=0, B=1and C =1 are inputs, then the values of y, and
y, are respectively

Ehalay $o0hos® JFwen A=0,B=1%560m C=1 wowd y, $08cin y, Denshen
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In amplutide modulation. if a message signal of 5 kHz 1s modulated by a carrier
wave of frequency 900 kHz, then the frequencies of the side bands are

‘c*f'_ ] a]ﬁﬁ.}ﬁj o7 Iﬁ, éa.\-.\lé ﬂ kHZ \/ o)l JO fi_,- -Lut'\ cqoa'?j ”(-]é—m:c‘\ JL'T" JE& éjﬁ.)f'? é

900 kHz ET“S.;“Eﬁ 0 fo a8 a8 dborr) G0, c:m{j \$E€° TPsaeen

Options :

905 kHz. 895 kHz
1.4

. 900 kHz, 800 kHz

. 800 kHz. 700 kHz

3. ¢
1000 kHz. 900 kHz

Chemistry
Section Id : 640411347
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 640411347

Question Shuffling Allowed : Yes



Question Number : 121 Question Id : 64041116761 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The wavelength of a particular electron transition for He™ is 100 nm. The
wavelength (in A) of H atom for the same transition is

He" aog) 2.8 003 m@lsﬁ 26880 cink) $8or@Y so 100 nm. H58:5remis )
03 5850 $80K3Y s0 (A 0&")

Options :
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The energy of second Bohr orbit of hydrogen atom is —3.4 eV. The energy of

the fourth Bohr orbit of the He™ 1on will be

%S S8srmi 8% Do 85 5 48 —3.4 eV. He eotrS an¥) 6% woys
55 0 48
Options :
—34eV
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. —13.6eV
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Observe the following data.

: : .
Boh Hzroddni D88DoS0s.

Ton QE!.+ Xb+ Y'C-i- Zd+
&deS
Radius (pm) 33 66 40 100

:"‘_J:rltgo (pm)
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Which of the following sets are correctly matched ?

Bob o Dhsen DBme adKreHs ?

Molecule Hybrididization Geometry
Shevt) Rlel-tet-telocle) ALY
L BiF, spd? square pyramidal

BB oeargBd
I. XeF sp3{13 Distorted octahedral

DBrHe0 06D ©RHnHH

1. SF, dsp? square planar
S8 Hivde
IV.  PbCl, sp linear
BRah
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The order of dipole moments of H,O (A), CHC/; (B) and NH; (C) 1s

H,0 (A). CHCI; (B) 528050 NH; (C) o &g (grshsre (85550
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Identify the correct graph for an ideal gas
(v-axis = compressibility factor. Z: x-axis = pressure. p)
@88 sraindt SOghd (v PR 1DBoSok.
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Identify the correct statements from the following.

Bod e’ 2DOahd sEgagei HBoan. (only = &r($d)

L. Glass 1s an extremely viscous liquid.
meer Yfiee o0 QBT 68 (B80.
II. Increase in temperature decreases the surface tension of liquids.
SEEHS 2BAS B0b, (Bare Sodild Sihehob.
III. Compressibility factor for an ideal gas 1s zero.
% Fﬂﬁﬁﬂ%cﬁ“ﬁﬂﬁé éof\;cﬁg@? oesBdm ody),
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Identify the correct statements about the following stoichiometric equation.
8B ~ronda@raiBis Hingtmels Honofod 5B 5o HBobhin.

(only = &r(E)

aP, +b"OH + cH,0 — dPH, + ¢H,PO;

L. atb+c=5
II. bte=g=3

III. The oxidation state of P in H,PO, &+
H,PO, & P esdytis 58 +1.
Options :

I, I, III

1. %

L II only

L. III only
3. %

IL. I1T only
4. &

Question Number : 129 Question Id : 64041116769 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

5 moles of a gas is allowed to pass through a series of changes as shown in the

graph, in a cyclic process. The processes C—>A,B—>C and A—>B
respectively are

2,8 %009 H8cHS® b Ffer e e (PSS B Heforr HE AVl
5% B30, C oA, B - CHbotn A = B [J&chen $&&m

(Volume = 55i8:388mm0; Temperature = excficiel)

Volume

T

Temperature

Options :

Isothermal, Isochoric, Isobaric

Sedory, DTEBE, nItras

1. ®
Isochoric, Isobaric, Isothermal
0E%BE, oS, Sy

2. %

Isobaric, Isochoric, Isothermal

3 % D&trBE, nEBRE, Sedoesy

Isothermal, Isobaric, Isochoric

Ny, DaTETRE, nIERE,



Question Number : 130 Question Id : 64041116770 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
1 mole of an ideal gas is allowed to expand 1sothermally and reversibly from
1L to 5L at 300 K. The change in enthalpy (in kI) 1s (R=8.3 ] K 11101_1)
300K 58 1 3rS sfardndih 1L $0é SL & S53rgE, 6|e‘33“1£%c:ii; 5:1::;;%{':??-’3

S:58055%, dogrd) drty) kI o) (R=83 TK ™ mol ™)

Options :

Question Number : 131 Question Id : 64041116771 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Consider the following equilibrium reaction in gaseous state at T(K).
AAIB —=2C+D
The initial concentration of B 1s 1.5 times that of A. At equilibrium. the
concentrations of A and B are equal. The equilibrium constant for the reaction
is
T(K) 58 a:cciﬁn%ne"_aﬁﬁ &) Bof JxherB S H0KBoDH.

ATIRs— 201D

ws]

Tng) |oFB0gs meese A ¥o& 1.5 Béw )83, PE-‘J:F%_\S .:ﬁ%j AbBcn B o miisen

aarEdo. S5 Shernd Horoo

Options :

1. % 6



Question Number : 132 Question Id : 64041116772 Question Type : MCQ Option Shuffling
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
At T(K) Ksp of two 1onic salts MX, and MX is 5 x 10713 and 1.6 » 10711
respectively. The ratio of molar solubility of MX, and MX 1s
T(K) 8§ MX, 605> MX %6 Soth eci=R8 ofiro K_ o 865 5% 1077
$batn 1.6 x 10711 MX, $6af MX o 3rerh (rstohdo 258

Options :

5.
1 & 12-5

—
[
LA

o
]
_n

l

h
o

:Yes

Question Number : 133 Question Id : 64041116773 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Consider the following

1€l aeéld) DBeidotod

Statement I : H,0, acts as an oxidsing as well as reducing agent in

both acidic and basic media.

a5y - D ey, 8 ciriiemen oot HZOZ ea%éda%mﬁa,
LenEBHmS 30T508.

Statement-11 : 10V H,0, sample means it contains 6%, (w/v) H,0,.

s 11 : 10VH,0, Foat) @i 63 chots 6%, (W/v) H,0,
08006

The correct answer 18
NG edrgrRo
Options :

Both statement-I and statement-II are correct
argEng-l &0Bch0 argrys-1 Botior HBHEA.

Statement-I is correct, but statement-II is not correct
a1 5B gHHG, =0 argpg-Il SBGhEE seib.

Statement-I is not correct, but statement-I1 1s correct
syl B EHEk srth, e0f) argeg-1l KOG,

Both statement-I and statement-II are not correct.

Jﬂegajé-l AN SILIY F@%'H Do HBCHIIL srEd.

Question Number : 134 Question Id : 64041116774 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

Identify the correct statements from the following

[Bob @ Hoof HOGHY awgager HBodod. (only = Sr(Eh)

I.  All alkaline earth metals give hydrides on heating with hydrogen.

o i, o - =
PSS 36 dabr of) 58 58 &ten TREEODH Bow.
k. 2L =

o

II. Calcium hydroxide 1s used to purify sugar
S555 $6 Dot SN0 TEBED SHAPATD.
III. BeC 3'2 1s a dimer 1n gaseous phase.

ainlarns® BeCl, Bromgsn

Options :
I & III only

1. %

- II & III only

1,11 HI
3. %

I & IT only

4. %

Question Number : 135 Question Id : 64041116775 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Select the correct statements from the following.

(Bobs o o) 3B argpgei 6)363&%50&.

A)  Aluminium liberates H) gas with dil. HC/ but not with aqueous NaOH.
oerihlaho dee HC/ & H, arafnidih dihise 306 =20 NaOH
aolmrden0s Db,

B)  Formula of sodium metaborate is Na,BO,

REH0 DerSToes @3{53@@ Na,BO,

C) Boric acid 1s a weak monobasic acid
£68 eio N8BS Ko auird sfio

D)  For thallium. +1 state 1s more stable than +3 state.

OahoH +3 {8 go8) +1 58 wh¥ AODiH.
Options :

A&B
1. %

B&C

3 ¢ G

A&D

Question Number : 136 Question Id : 64041116776 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



The number of amphoteric oxides from the following is

CO,. GeO,. Sn0O,. PbO,. CO. GeO. SnO. PbO

(]

Bob seBEP Byigrd e8)Be Hogy
CO,. GeO.,,. Sn0O,,. PbO,,. CO, GeO. SnO. PbO

Options :

1.% 3

Question Number : 137 Question Id : 64041116777 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is not correct ?
Eob agpges® KR Ok 7

Options :

Catalytic converters present in automobiles prevent the release of

nitrogen oxide to the atmosphere.

Saeeae aesareeste) ﬁ@cﬁé S8 cholgmen TeaRdnos JetaS wByf
Dz 6%,

Photochemical smog is a mixture of smoke, fog and SO,

s208 Barobiaf ©30 &Y, Hoh SBcko SO, & &nlFevo.



Chlorofluorocarbons damage ozone layer.

S55080r e 4858 8 AR darom.

Acid rain corrodes water pipes resulting in the leaching of heavy metals
into the drinking water.

e A ooz (e Shirdoho S g8 S5 avidBs™8 Jhkoh.

Question Number : 138 Question Id : 64041116778 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Consider the sets I, Il and III. Identify the set(s) which is {are) correctly matched.
I, T obofo I11 Senend H8ridoukin. Sorp 2 Johnds K8 (e) B rhHboik,

(only = Smefh)

I.  Staggered ethane > eclipsed ethane.......... torsional strain.
WO BFR > (3 HFR oo Sy eRlacyeh bl

II. 2, 2-Dimethylbutane > 2-methylpentane ......... boiling point
2, 2-ZE0PeSmfin > 2-0FeS 08T ... RV ~R0

III. cis-But-2-ene > trans-But-2-ene ......... dipole moment

R0-05EI- 2= 880 = (4R gt - 2R v, Axlavallciabicte
Options :

L, IT only

1. %

I1, IIT only

I1I only

3.¢¥



L II, III

Question Number : 139 Question Id : 64041116779 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What are B and C respectively in the following set of reactions ?

(1) alc EOH . , Lindlar
(u)NaNH> i Catalyst -

& {‘27“ 1.2 — dibromopropane

(Bots adbs Ste Sna8° B Hddn C en SHdr o ?

Zn AEan s () TS KROH | =
(1) NaNH> T a@sgo

Options :

L W "

4.

Question Number : 140 Question Id : 64041116780 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



The crystal system with edge lengths a # b # ¢ and axial angles o =p =v=90°
15 'X' and number of Bravais lattices for itis 'y'. x and y are
wodh eEHen a=b ¢ ban e:_%pﬁn wren a=Pf=7=90° Ko B8 B X'
0805 w8 [BHoHR ereoseen 'Y wond X HBcm ¥ en
Options:
Cubic : 3
.

1. % q“ﬁ[:l: 3

Monoclinic: 2

-

DEdak:
2. ® e
Orthorhombic: 4
Dendeintines:; 4
3. v
Trigonal: 2

888 das; 2

Question Number : 141 Question Id : 64041116781 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A solution is prepared by adding 124 g of ethylene glycol (molar mass =62 g
mol™) to x g of water to get 10 m solution. What is the value of x (in g) ?
124 g & =605 s (3rerb (o8 = 62 g mol™) % xg o 582 €05 10m
[@$eR)) Srometh. x Dendd (g 0F°) aod ?
Options :
100

1. %

, % 400



8§00

4 v 200

Question Number : 142 Question Id : 64041116782 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The following graph 1s obtained for an 1deal solution containing a non-volatile
solute. x- and y-axis represent. respectively
2.8 &ﬁmf{%& ErRssn &%) eif) [raeRs (Eod (™o ofodod. x- HbdA

rd

V- ogren rdodhid) Shdm

—

Options :

mole fraction of solute. vapour pressure of solute.
(EeRe8) Brderiain, (ordd 2:0@&45?6533.
mole fraction of solvent, vapour pressure of solution.
(e Jrderiisin, ([mrReo B]'D?éﬁ"{s:ﬁm
2. ¢

mole fraction of solute. vapour pressure of solution.

(R8N Irderiidn, oo 530@5355&63}.



concentration of solution. vapour pressure of solution

[agals Watlals Ml aalle S

Question Number : 143 Question Id : 64041116783 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Observe the following statements about dry cell

@antg SotrRIE Somohod (Eob e $B8D0S0d

[.  Itisaprimary battery.
al a8 [;'.géoé a:rtgjef)
II. Zinc vessel acts as cathode.
20§ ared 5% $Ddcknik.
III. A paste of moist NH4CJ, MnO, and Zn(}lvf2 is present between two
electrodes.
BotH QD@JSED oy, &8 NH4CI, MnO, &b0% ZHCEZ &) ﬁ)@ B0t0ob.
IV. The potential of this cell is 1.5 V.
& sk Oy ra’égo 15N

The correct statements are
NBEHH argpgn (only = &)
Options:

LILILIV

1. %

L, I, III only
2. ®

I, III, IV only

3. ¥



IL, I1I, I'V only

Question Number : 144 Question Id : 64041116784 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
For a reaction. the graph of /n k (on y-axis) and 1/T (on x-axis) is a
straight line with a slope =2 » 10* K. The activation energy of the reaction
(in kJ 111@1_1) is(R=R831J K1 11101_1}
2.8 5% Mk (y-ofo $ne8) SHbcsw 1/T (x-w¥o HE) o D ([P e
-2 x 10K Ho 2.8 5663y, 38 @t adas 48 (kI mol™ o)
(R=83TK ! mol™)

Options:
332

Question Number : 145 Question Id : 64041116785 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Match the following
Bob &N es8nhdin (g =)

List-I (Reaction)

o1 (55)

A) Hydrogenation of
vegetable oils

éﬁﬁﬁme:o&:&‘é Hrde

& =dEsmo

B) Decomposition of
potassium chlorate
grérdicho 88¢ D@m=

C) Oxidation of SO, in
lead chamber process
86 wroabd D":cig@éﬁ
SO, Eﬂé&éésao

D) Oxidation of ammonia
in Ostwald's process
ORRO ég%éﬁ SBvpiien,

Eﬂ%ﬂ}étﬂﬂam

The correct answer 1s
RBEHR [ergrio

Options:

1.

x AL BIVC-1, D-TH

A-L B-II, C-IV, D-III

2. ¢

A-IIIL, B-1V, C-I, D-II

. A-III B-II. C-IV, D-I

List-II (Catalyst)
la-11 (ﬁ@ﬁéaﬁ:m}
I. Ni

1I. MHO2

III. Pt

IV. NO(g)



Question Number : 146 Question Id : 64041116786 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The critical micelle concentration (CMC) of a soap solution is

5 x 107 mol L. Identify the correct statements about this solution.

8 S des Hobel Qe reife (CMC) 5 x 107 mol L. & (gberiid
domofed MBS amspe HBosod. (only =&redah)

I.  The micelle is stable if the soap solution concentration is
107 mol L™}
Xy e regel 107 mol L™ wond qv2es %éom el

II. The micelle is stable if the soap solution concentration is higher than
510 mol L™
Sy lgrebonsh onese 5 % 10 mol 1™ €085 e exygel v §dorr
#0tnok,

III.  Micelles are also known as associated colloids.
QoS HeiBe Emonben ©f) Erme wotd.

Options :

I,II,III
L, IT only

I, ITI only

I, IIT only

Question Number : 147 Question Id : 64041116787 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The metal purified by Mond process 1s X. The number of unpaired electrons

inXis

&

of 5K86° X o 85 H8 Ix. X $ot50 adtrid Jogry Soay

L=

Options :

1. % 3

()

4.+

Question Number : 148 Question Id : 64041116788 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Complete hydrolysis of Xenon hexafluoride gives HF along with compound
X. The hybridisation in X 1s
A 0 2rsEED6 Soxpy el Daxes® HF & srtw E‘ifg&%’é@ X a8 ksob.
X H088 Hosdsbno

Options :

3
1.v P



Question Number : 149 Question Id : 64041116789 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
KMnO, oxidises hydrogen sulphide m acidic medium. The number of moles
of KMnO, which react with one mole of hydrogen sulphide is
o) arsgods’ KMnO,, P& S 386D a&n 80 B0B. a8 IS T

}”ﬁéﬁéﬁ $85 Fotd KMnO, Irde oy

Options :

Question Number : 150 Question Id : 64041116790 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the set which does not have ambidentate ligand (s)
&gfosH o Srroli(ens) B HnaD roBodod

Options :

NO;,CN~,C,0:"

C,0; ,H,0,80;"
2.9

SCN™,NH,,CH,CO0"
3. %



CN~,SCN™,CH,NH,
4. %

Question Number : 151 Question Id : 64041116791 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of linear and crosslinked polymers in the following respectively

are

Novolac, Nylon 6,6, Bakelite, PYC, melamine
ot B8 BROH Hobots e FDRBe Hopg SER™
PPer, ZerS 6,6, DE0E, PVC, 3w

Options:

1.4
1. %

4,1
2. %

2
3. %

3,2
4. ¢

Question Number : 152 Question Id : 64041116792 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following represents the correct structure of p — D - (-) -
Fructofuranose ?

. o o oF L o T . \ )
8oB &S 28 P-D - (-) — PEIBSE @nd) 38 Aol Higo Thod ?
- gy e T L i

= [ SN ) B

Options :

1. %



HOH,C O CH,OH
g \il HO/OH

OH §H

HOH,C O OH

H\H H/CH,0H

OH (oH

HOH,C O OH

g\ HO/CcH,0H

HOH,C CH,OH

Question Number : 153 Question Id : 64041116793 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following statement is not correct for glucose ?
B0l & aegpg (TEtEE XB8keeH 7

Options:
1. %



Glucose does not give Schiffs test.

NTESE W5 SBERES.

Glucose exists in two crystalline forms o~ and -.

HESS, o-doBoin B-od Bo e Somareene® ed)iinoh.

The pentaacetate of glucose does not react with NH,OH.
HTESE DotrHDES NH,OH & SBgosd.

Glucose forms addition product with NaHSO.,.
&% NaHSO, 8% SosDef Saeorfy aihod.

4.

Question Number : 154 Question Id : 64041116794 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The synthetic detergent used in tooth paste 1s of type X. Animal starch 15 Y,

X and Y respectively are
m@ﬁj‘@meﬁﬁ T £)@d Begots o X. moeh Fb) o3 Y $%dr X $B0%

Y en
Options:

Anionic, amylose
950 e0E, agxst

Non-ionic, cellulose

oI, ?\:umaegeﬁﬁ£



Anionic, glycogen

o, 0E%:S

Cationic, amy lopectin

SoeorRE, ASTRHES
4, ®

Question Number : 155 Question Id : 64041116795 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What are X and Y respectively in the following sets of reactions ?

808 I8e HwBed® X H58cin Y en 29 7 (major = [Hged)

Lats s O o B g
i HBr & -
IL /ﬁ\\\\\\“ (CsH:C00), Y

(major)

Options :

1. %

NBI‘ ; >—B1
2. % .

el e, R _FEE
3.¢¥



Question Number : 156 Question Id : 64041116796 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the two reactions A (I — II) and B (I— III) respectively in the following

set of reactions.

Bof St5e $086° A (I - II) &6 B (I - III) e Bot Sty He

hBodoé.
COCH; Cl
B A
-————— ‘—'._
Ci
II I I
Options :

Fittig : Friedel-Crafts

2O Iglt‘ﬂf_?-L?ggr:,

1. % - -
Wurtz-Fittig : Friedel-Crafts
65-08RF 1 @dS4=R)

2.4 ®
Wurtz-Fittig: Stephen
60-28h %15

3.8 °F
Friedel-crafts : Swarts
BES-=0y 3y

4, % - ‘

Question Number : 157 Question Id : 64041116797 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



An alcohol, X (CSH ) in the presence of Cu/573K gives Y (CSHm)' The

12
reactants required for the preparation of X are

2.8 eyl X (CSleO), Cu/573K ﬁé}%@@ﬁ Y (CSHIO) % amod. X dotbd
@é"@'tﬁéacﬂjé |EoSrasiisren

Options :

/}\\D 5 C ij MgBI‘

HCHO, (CH,),CMgBr

/Y R

0

O
)K, (CHB)ECI-]MgBr

Question Number : 158 Question Id : 64041116798 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



A carbonyl compound X (C,H O) undergoes disproportionation with
conc. KOH on heating. Product of X with Zn-Hg/HC/ 1s Y and product of X
with NaBH, is Z. What are Y and Z respectively ?

2.8 36 533@%%0 X (CH,0) ey KOH & Fedchrr exdiardo Sothebod.
Zn-Hg/HCi 85X oxgf) esfydio Y Sbaso NaBH, &$X ) esedyifio Z. dder
Y &obosn Z e o ?

Options:

OH
Q/\CH3 O/\/

1. %
CH;

H.C HsC

2. ¥
CH;
/G/\OH /@/

HsC H.C

3. %
OH

4, %

Question Number : 159 Question Id : 64041116799 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



What is the major product Y in the following reaction sequence ?

[Bod SogEsos® Hord edido Y o ?

CONES ¢l 50,6 (i) H:0™ ]
= B - Y
Pyridine 70°C (11) Br,. FeBr,

Options :

[:;:I,COOH
Br

1.4

[:::]fCOBr
2. %

NH,
j x DI /O
COOH
4 % BI /O/

Question Number : 160 Question Id : 64041116800 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



What are X and Y respectively in the following set of reactions ?

[Bod Stge H8E° X 800 Y en H&6r O ?

: _ NH,
(i) NaNoO, /HCI * PO
- . 2 %
(i1) CuCN/ KCN KOH/A
Options :
O/CN OCN
1. ®
2. %
3.¢
NC NC

-
Q

4, %





